VIR RB T E 102 E5EF —FHH —UERHBP AT RAE

R - BB 10 BB (E 10 B8 8 6 43 » BB 10 18D L8 5 43 » 3£ 100 4

1. TR ABCD - %A% AC ~ BD FACEE M - 1AL - 2) » M3 5)HE
AB=(1>—2) 8] BC = (A)

2. 3% 0P=30A—20B H AB=tAP > Hl t= By - b

3. WIERE » TEFIEW ABCDE » AB - BC=a » AC - CD=b » 4D - DE=c
Al a b c HRENEF (C)

A
4. 3% a=Q1 -1 % bld H|b|=1 W b=__(D) _ -
(K 2 g » 2HAED)
5.% da=1:3)b=(=2>~-1)-d } a f b HELWTLHE
Il d= (E)
6. ©%1 AABC» AB=4 BC =6 +AC =5 H| BC-AB — BC - AC= (F)
N ey x=14+t x=1+4+2s
7. —ﬁ:ﬁqu{j‘ﬁ.éi Ll:{y — __Zt ’ tER -E’i\i Lz:{y - 1 --——45 ?SER ?
Hld(L1 L2)= (G) o
8. E%ﬂ'&lzz ’ lz;lzg ’
(1)3k |d + 2b| t9g/IMEE ___ (H)
()% a Bl b Wk 120° > 3K |d+ 2bl=___(1)
A
9. /45 » AABCth » M > N 535k AC 81 BM 9% - M

H AP= xAl3;+yA(f » A (x0 y)= (N




10.

11.

12,

13.

14.

15.

6.

17,

PERESEE F o IELR L x+Ty=2 81 [ : 3x+ y=4 B8R A5 0 -
HI] cos@= (K} °

3a—2c¢c 3c
3b—2d 3d

A

G4

abl_

=6 3K| ¢ g

(L) °

RERET L > AOABTT=2 » E10(0 - 0) ~ A(1>2) F BEJFHEL y=x+1 b
R BEGEEREE (M) - (2R 2B

S0 G fl b BRI E RS 5 3R BL(@ + 2B) F (a — 2b) BTikiie
HIEATIBEIER = _ (N)

EXlx o>y BEE > H 4x—3y+7=0> 3K x*+(y + 1)* 095/ M= (0) o

AASE > SEFTVUETE ABCD » 35 AP=—31¢-AB +—375AD » AQ= EE‘E+§E ,
D

154V4&%w . 2

AR= -éz—?l—f—l—ZAB’AS: ZAC——AB > HI P-Q-R~ .S IN{EZ

HURS{ER S /E ABCD HIPNER? (P) o (EBTEED)

/INIAECER SR A MR - MR B AP o TR P ISR AR - FEAAR
(—12 - 4) QI EWEER - & 1 PHEFIEARE (—10 - 5) - & 1% > /N
JREE(0 > 0)E5 5 —IRIE R » (Bak Rt DAE & pie HRSER P AR - 1 L R Mg Z&ch
P o 5K R & p P EFHVAAR S (R) °

A
AR = ABC > 8RR 4> # P~ Q ~ R =%5F BC L
H BP=PQ=QR=RC-
Al AP -AQ +AQ-AR + AR - AP = (0) o
A 4




CATIRGZRTE I ELEE -SR-S IR RELEE

4R BAR: "

AR B 10 BN GE 108 EK 64 » BE 10 UL S 54> » #2100 %

A B C D E F
<9
(3°8) 1 a>b>c (2-1) -36
2
(abc) (__2\@ ’ —\/77)
G H I ] K L
V5 4 2V7 R V5 2
'E‘ 3 3 5 3
M N 0 P Q R
(5 ’ 6) ’
(-3 -2) 20 4 RS (2 11) 35




